1626405 16 N4083

9. Define inflation, What steps to be taken to control

10.

inflation? 6
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Write short note on the following.
(1) Overdraft
(i1) Letters of credit

frafaRaa wr wféra fewoft fod |
(i) MR STve
(11) |re g9re1 9o

What is Cheque? Discuss in brief the requisite
of cheque. 6
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Distinguish between simple and Weighted index
number. How is Weighted index number
constructed?
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Answer all 20 questions from Group A, each question
carries 1 marks.
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Answer all Five questions from Group B, each question

carries 4marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all five questions from Group C, each question

carries6 marks.
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All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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(i)

What is current account? Explain it.
ATe], @Al T 2?2 Ha fad=a-r sIfey |
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What is stock exchange security? (iii)
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What precautions to be taken while opening a

current account? (iii)
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graertrar o S anfag?
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(iv)

What are the causes of deflation? Discuss it.
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Which of the following is more dangerous
(a) Inflation

(b) Deflation

(c) Stagflation

(d) None of these
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When a bank returns a cheque unpaid it is
called
(a) Taking of the Cheque
(b) Cancelling the Cheque
(c) Dishonor of the Cheque
(d) None of these
P.T.O
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GROUPB

Answer all Five Questions.
aft uf" gyl @ SR S | Sx4=120

2.

Differentiate between pledge and mortgage in brief

4
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What steps to be taken to control deflation?
Discuss it.
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Buying and Selling of securities by Reserve
Bank of India is called

(a) Open market operation

(b) Closed market operation

(c) Closed equity operation

(d) None of these
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Which of the following market is associated
with short tern funds

(a) Capital market

(b) Stock market

(c) Money market

(d) None of these
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vi) R Red §& &1 gEaraa 2

(xvii)
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Coins are issued by

(a) Central Government
(b) Reserve Bank of India
(c) State Bank of India
(d) Finance Ministry
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Which of the following market is associated
with long terme funds

(a) Capital market

(b) Money market

(¢) Stock market

(d) None of these
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How many banks are presently associates
of State Bank of India ?

(a) Five

(b) Six

(c) Seven

(d) None of these
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When a person opens an account with the
Bank this relationship between the two is
(a) Trustee and beneficiary

(b) Bailor and bailee

(c) Debtor and Creditor

(d) None of these
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11. Discuss the effects of deflation on producer’s
class and agriculturist’s class. 6
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Discuss the different kinds of banks found in India.
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11. Discuss the effects of deflation on producer’s

class and agriculturist’s class. 6
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Discuss the different kinds of banks found in India.
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